
数学

— 24 —

2
0
2
4
年
度

数
学

―
	5

1	
―

選
択

問
題

：
数

学
選

択
者

は
、

以
下

の
２

問
に

つ
い

て
は

い
ず

れ
か

１
問

を
選

ん
で

解
答

し
な

さ
い

。

 
解

答
用

紙
の

「
選

択
問

題
番

号
欄

」
に

、
選

択
し

た
問

題
の

番
号

を
記

入
し

な
さ

い
。

問
３

放
物

線
y
 =

	x
2
－

x
を

C
と

す
る

。
C

上
の

点
（

0,	
0）

と
点

（
2,	

2）
に

お
け

る
接

線
を

そ
れ

ぞ
れ

l 、
m

と
す

る
。

こ
の

と
き

、
次

の
問

い
に

答
え

よ
。

（
１

）　
接

線
l
と

接
線

m
の

方
程

式
を

求
め

な
さ

い
。

解
答

に
あ

た
っ

て
は

、
計

算
過

程
も

記
述

す
る

こ
と

。

（
２

）　
放

物
線

C
、

接
線

l 、
接

線
m

で
囲

ま
れ

た
面

積
を

求
め

な
さ

い
。

解
答

に
あ

た
っ

て
は

、
計

算
過

程
も

記
述

す
る

こ
と

。

問
４

１
個

の
さ

い
こ

ろ
を

繰
り

返
し

３
回

投
げ

る
と

す
る

。
こ

の
と

き
、

次
の

問
い

に
答

え
よ

。

（
１

）　
目

の
最

小
値

が
2
以

下
で

あ
る

確
率

を
求

め
な

さ
い

。
解

答
に

あ
た

っ
て

は
、

計
算

過
程

も
記

述
す

る
こ

と
。

（
２

）　
目

の
最

小
値

が
２

で
あ

る
確

率
を

求
め

な
さ

い
。

解
答

に
あ

た
っ

て
は

、
計

算
過

程
も

記
述

す
る

こ
と

。

問
４

何
種

類
か

の
カ

ー
ド

の
う

ち
1
枚

が
当

確
率

で
封

入
さ

れ
た

大
量

の
く

じ
が

あ
り

、
す

べ
て

の
種

類
の

カ
ー

ド
が

そ
ろ

う
ま

で
く

じ
を

引
き

続
け

る
も

の
と

す
る

。
こ

の
と

き
、

次
の

問
い

に
答

え
よ

。

⒜
　

カ
ー

ド
の

種
類

が
3
種

類
の

と
き

、
く

じ
を

3
回

引
い

て
す

べ
て

の
種

類
が

そ
ろ

い
、

く
じ

を
引

く
の

を
や

め
ら

れ
る

確
率

を
求

め
よ

。

⒝
　

カ
ー

ド
の

種
類

が
3
種

類
の

と
き

、
く

じ
を

引
く

回
数

が
5
回

以
下

で
や

め
ら

れ
る

確
率

を
求

め
よ

。

⒞
　

カ
ー

ド
の

種
類

が
3
種

類
の

と
き

、
2
種

類
目

の
カ

ー
ド

を
当

て
て

か
ら

、
最

後
の

種
類

の
カ

ー
ド

を
当

て

る
ま

で
に

く
じ

を
引

く
回

数
の

期
待

値
を

求
め

よ
。

⒟
　

カ
ー

ド
の

種
類

が
48

種
類

の
と

き
、

47
種

類
目

の
カ

ー
ド

を
引

い
て

か
ら

、
最

後
の

種
類

の
カ

ー
ド

を
当

て
る

ま
で

に
く

じ
を

引
く

回
数

の
期

待
値

を
求

め
よ

。
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―

共
通
問
題
：
数
学
選
択
者
は
、
以
下
の
２
問
に
つ
い
て
は
両
問
と
も
解
答
し
な
さ
い
。

問
１

以
下

の
問

い
に

答
え

よ
。

	

（
１

）　
x
 =

�
5̄
－
�
3̄

―
―

―
―

―
3

、
y
 =

�
5̄
+
�
3̄

―
―

―
―

―
3

の
と

き
、

x
3 
+	
y

3
の

値
を

求
め

な
さ

い
。

解
答

に
あ

た
っ

て
は

、
計

算
過

程
も

記

述
す

る
こ

と
。

（
２

）　
x
 +

	y
 +

	z
 =

	√
3̅
－

3、
x
y
 +

	y
z
 +

	z
x
 =

	2
－

3
√
3̅、

x
y
z
=	

2
√
3̅
の

と
き

、
x ― y
z

+
y ― zx

+
z ― x
y

の
値

を

求
め

な
さ

い
。

解
答

に
あ

た
っ

て
は

、
計

算
過

程
も

記
述

す
る

こ
と

。

問
２

　 x
,	y

が
、

x
2 
+	

3y
2 
=	

1
を

満
た

す
と

す
る

。
こ

の
と

き
、
x
 +

	2
y

2
の

最
大

値
と

最
小

値
を

求
め

な
さ

い
。

ま
た

、
そ

の
と

き
の

x
と

y
の

値
も

求
め

な
さ

い
。

解
答

に
あ

た
っ

て
は

、
計

算
過

程
も

記
述

す
る

こ
と

。
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